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B.A./B.Sc. (General) 2nd Semester
Examination

1047

POLITICAL SCIENCE
(In All Mediums)
(Political Theory-II)
Time : 3 Hours] [Max. Marks : 90

English Medium
Note :— (1) Question No. 1 is compulsory. Attempt any 9
out of total 15 questions. Each has 2 marks
and the answer should be in 10-20 words.
(i) Rest of the paper has four Units. Attempt one

question from each Unit. Each question is of
18 marks.

(iii) For private and reappear candidates, who have
not been assessed earlier for internal assessment,
the marks secured by them in theory paper will
proportionately be increased to the maximum

marks of the paper in lieu of internal assessment.
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(Compulsory Question) 2 each
1. () What do you mean by power ?
(i) Write down the meaning of Authority.
(ii)) Define legitimacy.
(iv) What do you mean by Charismatic Power ?

(v) Write down any two features of Political

Culture ?

(vi) Write down any four safeguards of rights.

(vii) What do you mean by Human Rights ?

(viit) What do you mean by National Liberty.

(ix)  What do you mean.by Justice ?

(x) What is legal dimension of Justice ?

(xi) Write down any four features of social change.

(xit) What do you mean by democracy ?

(xiii) Write down any four conditions necessary for
the success of democracy.

(xiv) Write down any four features of socialistic
democracy.

(xv) Write down any four features of political

socialisation.
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Unit-I -

. Define political culture. Discuss its various

. Define political socialisation. Explain its agents. 6+12=18
Unit-II

. What do you mean by rights ? Explain the various
kinds of rights. 6+12=18

. Write down the different kinds of Duties. 18

Unit-III

. Define liberty and  discuss its  various
safeguards. 6+12=18
. Define equality. Discuss its various dimensions. 6+12=18
Unit-1V

. What do you mean by social change ? Write down

its characteristics. 6+12=18

. Make critical evaluation of the Elite theory of

democracy. 18
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e - (i)wa'.1aﬁmzf%| 15 # 9 %8 9 W
FITT TAF & T Ak &1 W AT 10-20
NEA I
(i) ST YIA-991 § =R IHE ¢! TS THE 4 Th
U HIGTI JAF T & 18 IFF B
(iii) Wrzoe wa f-udier whantdfE &, foaat siget
i § o7 @l o, ST g fafea wdten
T g 3Tl % AR, 3TGEA oAk i
e S el fy S
(e g) : 2 Feh
. () v ¥ e & IfmmE g 2
(i) g1 w1 st fafem
(i) Sfeaar w1 9w fafew )
(iv) A vfe d ook @@ 9 ¥ 2
(v) Terifos Sepla w1 B & faRiad fafe
(vi) fUsRi & ®k IR Ww fafew)
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(vii) AFEE faerl ¥ gt = Afvyug § 2

(viii) TE TSl W ST9eT ¥4 AfNWE ® 2

(x) =@ ¥ 9w = AfuE ¥ 2

(Xx) T R UH FM T ?

(xi) GrIfSes 9REds & @5 ur foRma fafew)

(xii) Sehas ¥ M9R T AU T 2

(xii) b A THAA & fag wE W foOREEd
fafem |

(xiv) THNEE] clihds &t wi wR fovwand fafew)

(xv) TSHIfaeh THTSTEHO St 68 =R fowmad fafag |

ECOEE |
2. UsHifges F&hfa w1 qiwen S st fafi=
fradt = ==l wifeay 6+12=18
3. USHIfdS FHSTH &) qRamen {fe) g9 Tl o
U RIS | 6+12=18
-gehtg—II
4. fywri | eus = Afiy ® 2 sifyeri =t fafi=
e+t = Sifsg) 6+12=18
5. waeal i fafw= fed fafemw) 18
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TRE—III
6. @ada @t Rvmen e sEet fafa= gramsti @t

== ) 6+12=18
7. TUHE@ w gRmen Sifsw) sges fafi= g8« ==t
aﬁﬁm 6+12=18
FHEE—IV
8. WHISeh ufidad W 39T & A" & ? 3!
feioand. fafew | 6+12=18
9. Wihaa & fafere = & faga &1 Ie=AHs e
HifT | 18
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(Punjabi Medium)

&2 - (1) yAs 389 1 Agdt 31 15 feg at 9 yms
ddl I ¢ 2 J°F Isl €37 HarIar
1020 HEet &9 J<

(2) F&t T T 4 Gloe I51 IIX =79 2 y#s
I51 IIa fed et ¥ yws ad1 adx €
18 399 Is|

(3) yElRe »3 dropfng fefenaahr 2, frgst
T wiegal vege € d9d adt Fd1, Qs

1. () wast 3 3T dt I J 23J3a

(i) W3 = wgg ey

Giiy €fgzzr =t Ylsmr faa

(iv) fgmmEt wast 3 3o df g= 32

(v) Twolfza HAfgEt @t det @ fenmser f&gi

(vi)y wifgrgt € det 99 dftma e

(vii) H&dt mifttggt 3 IasT o I J?

(viii) IHAE H33393T 3 3T df IE T2

(ix) foot 3 Zasr ot I= I?

(x) forit = Tgat W o 2

(xi) AHfAa Yieazs &t det g9 fermzer fog 2
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(xii) BII3F T 3T ot I= 2

(xiii) BI339 <t HeB3” BE wgdl d€t O HI3 fed?
(xiv) AHTet Bdd39 Tt det 99 feRmsel {88
(xv) IWBISa AHHiage T g9 fermset fad)

gise-1
2. IFSSt Higwrgg &t Ylemwr fo@1 gwelst <=y
farmit & 99T 3| 6+12=18
3. Iweifsd AHHiaae < ylgmr fe@1 fen € el =
IJsE dd| 6+12=18
gfse-11
4. oifggrgt 3 FasT ot I I 2 wiftgat I =Y
fomt &t fenrftmr g4 6+12=18
5. goFer et fiafds fami fod 6+12=18
dfee-111
6. A3393” © ylgmr @1 feme =y mdfmrar €
7. a3 & dtemr o€ fere fdsfds Wt €t waur
31 6+12=18
8. mHfaa Yledss I Zom o I= J? fem dwi
fefmzret fod ‘ 6+12=18
9. Bad3d ¢ femw =gor @ AUz ¥ WBIE3HA
fer8re dd| : 6+12=18
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